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1 100kN/mM#%#B x5 - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 0.00 ~ 459 57.18 | Znlist | 000 ~ 459 | 1.88 9.52 zh s 1.00| 500 ~ 5.00 57.18 | Znlist | 5.00 ~ 500 | 1.88 9.52
9 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00 | 000 ~ 561 70.04 | Zhlist | 000 ~ 0.00| 1.76 8.88 zh s 1.00| 500 ~ 6.20 70.04 | Zhlist | 5.00 ~ 6.20| 1.76 8.88
3 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 000 ~ 474 59.09 | #hList | 000 ~ 0.00| 1.66 8.41 zhs 1.00| 500 ~ 5.00 59.09 | ZhList | 5.00 ~ 500 | 1.66 8.41
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